
Recap quiz (paraphrased defus/theorems)

Consider on LP in standard equation form

maximize

subject to A2 = 1
,
270.

A basic feasible solution is a feasible solution

in which the non-zero entries of 22

correspond to linearly independent columns of A
.

Last time we proved two results
① Every LP (in standard equation form)

has an optimal solution that is as

extreme point solution (provided it has
at least are optimal solution)

.

② Given on LP in Standard equation form

every basic feasible Solution is an

extreme point solution and vice versa .

(proot not completed)

①+ imply
Carollary If an LP has an optimal solution,
then it also has an optimal solution that
is also a basic feasible solution

.







③ maximise 3791 + 2012 + Ky
sub to 524 = 13 4 #26

2x
, - x

- xy = 4 <2

,,? O

obs2 Can add zero to objective function
without changing feasible or optimal solutions
e.g. in 2 says that 2x

, -x-x-4 = 0

Add this o to objective function

② maximize 52 + x2 -4

sub to 5x = 13

2x)
- x - xz = 4

x
,2 , My 40 .

③ andO have same feasible and optimal solutions
⑦ all 'equivalent"

Rem
- Note that O not technically on LP but essentially
it is

- Cbs 1 and obst will be used to rewrite LP
into a form where it becomes obvious what
the optimal solution is.



























Apply pict to updated tableax .

x 22 Si S2 Sy

RI 5 03 10 - 2 ↑ /

Rz 520 2 O I - I p /2

Ry x I - 2 O d 2 2 ->

Rfinal O /2 O o - 8
- S

x xz Si S2 Sy

LRi = BR , 12 Si- O I /3 0 - 23 /

Ri = Rz-2R, 52 G O -2/ ⑲ 13/3

Ry = R3 + 2 R, , & O 2/3 02/8/3
IRfinal = Rtinal-ER ! O O -40 -5 - 6

We do not apply another pict because 3(a)

tells us we have found on optimal solution.

Optimal solution obj value for

(ii) = (se this optimal

-
sclutice is -65



Example

maximize IT4
- x2 + 806,

subject to 223E/
2x - 4x2 +60 4
-

x # 37 + 43 2

Da ,
PatO

Standard equation form

maximize 2x ,
- x + 80

subject to 2x + S ,
= I

22 - 4x + 6xy +5 = 3

-x + 332 + 42y + Sp = 2

e , 22 , 04 ? G .

Initial tableau

x
/

CC
.. 23 Si Sa Se

5 / O O 2 I C C I

Sz 2 -4 60 1 C 3

Se - 340 01 2

2 -1800 0 O










